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QUESTION 1

Your company uses a payroll application that was developed using Java technologies. The company has acquired
another company and plans to integrate its payroll process in existing application. You have been asked to implement
this integration. You observe that the business logic adopted to calculate the payroll is different in both companies.
Which design pattern would be most appropriate to use in this integration?

A. Strategy

B. Payload Extractor

C. Fly Weight

D. Composite

E. Service Locator

Correct Answer: A

QUESTION 2

Your company requires all its developers to use a well-specified set of exception classes to model several common
error conditions, many of the which are specific to its business. These exception classes are centrally maintained and
come packaged in a library (a JAR file). The application you are developing needs to report a number of error conditions
covered by this library to remote clients.

Which paring of component type and remote access technology enables client applications to use the predefined
exceptions as part of their natural programming model?

A. Servlet accessed using HTTP

B. Entity bean accessed using web services

C. Stateless session bean accessed using Remote Method Invocation (RMI)
D. Message-driven bean accessed using Java Message Service (JMS) queue

Correct Answer: C

QUESTION 3

Which is an objective of the Strategy pattern?

A. To provide a way to configure a class with one of many behaviors

B. To define an object that encapsulates how a set of objects interacts

C. To define the skeleton of an algorithm, deferring some steps to subclasses

D. To decouple an abstraction horn its implementation so that the two can vary independently
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E. To define a family of algorithms, encapsulate each one, and make them interchangeable
F. To allow subclasses to redefine certain steps of an algorithm without changing the algorithm\\'s structure

Correct Answer: A

QUESTION 4

A successful web application is used by over two hundred thousand users. Due to this substantial load, the database is
over bridged and fails frequently. All data, included critical user records and temporary session data, is stored in the
database. Because of resource constraints, a new database system cannot be installed.

Which change will reduce the load on the database?

A. Creating more entity beans to optimize interaction wild the database

B. Refactoring the web application to use DAOs to communicate with the database

C. Refactoring the web application to store temporary session data on the web servers

D. Adding more web servers to the web tier to distribute the load and reduce the number of transactions on the
database.

Correct Answer: C

100% Real QandAs | 100% Real Pass

QUESTION 5

You have been recruited by an online retailer of footwear to conduct a review of their online systems. Your primary
Finding is that the development team has implemented duplicated complex business logic as Java scripts directly into
the JSPs, causing performance, scalability, and maintainability issues.

Which two design patterns would you select to improve the current code base?

A. View Helper

B. From Controller

C. Composite View

D. Service-to-Worker

E. Business Delegate

Correct Answer: BD
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